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sl & fore srereer /Instructions to the Candidates

1. 3T9% @ AF HAEs 7 Y T 1T 3fer-argeT 32T & 3MUR 9 rae Tof@e wdier & fore sty
foma I @1 AR I A9 F ared 9fafee i B ar Ao & AR 3T Svadr A8 @d 8 Ol

3Toehy s TR Jrediend <t siuaf|

You have been called for the written test based on the online data furnished by you in the web application.
if_you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. AU, 80 WRAT A JF THT-JRAH H FAAE 3R wlew F 3@ 02 vy )
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. mﬁwﬁaﬁamﬂﬁwm*mamﬁaﬁ#mwmﬁ?ﬂmﬁwaﬁm

. The questions will be objective type with four options out of which only one will be unambiguously correct.

4, YEAF W ST 04 3iF gt IR UeAF IWd Icadl FAU TF 376 FHer Swen |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. el & 3cal &1 & TOT 9T MNTHANR Seav-gieaest & See|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3TN, Seal-gfeae # R v el & AR, Ael/Hre TR & did G I F HCAHR Seek-
qredeT & HafRrd Jifael P 3R e T Sk T T4 FIAT |

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

7. OF U & AT 3@ Icd] A HIST AT

Multiple answers for a question will be regarded as wrong answer.
P.T.0




10.

11.

12.

13.

14.

15.

FO a1 e & ARG TRa- g H1s FTH3R Seay YR o Hidse wuet R forger aifru)

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the space
provided.

- FEHT 3 HTIHT ATH T IHTHHIR T [ |

Enter your Name and Roll Number correctly in the question booklet.

Wmm&%ﬁwﬁmﬁqﬁmmﬁmm%ﬁamﬂa#ﬁﬁmaﬁm

All entries in the OMR answer sheet should be with blue/black ball point pen only.

ofreTT gfer 7 Friiere &t 3afeufa 7 & 39 gid-Feshe/mIeraTT W gEdTaR Fie d1fgv|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

T, FAte Hife STy Y HeyAte 78} & SIee |

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

e qot Al 9T, TR SRR Y I F See Frea § wrd i A AR SeER-qRa
frdvares v w9t g gud i I o @l

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

- R 319 379% 9TE T Fhd £

The question booklet can be retained by the candidate.

et & T 6 & g 3t alien gl olse $ A e 7

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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THENATF-H (ZZRYTECHNICIAN-B (TURNER) - 9& H./POST NO. 1396
TET U FY ... 5 ATCTA § 39+ HAT ST Fehdl §/External threads can be produced by

means of

(a) TREN/Taps (b)  ET3/Dies

(c) oY FAMA/Lathe machine (d) B'qiiﬂ*?f TH/All of the above

dY | ?inI;T g F ... ZART 3o foram ST TRl €/Taper turning on lathe can be
produced by

(a) B G faf®/Form tool method

(b) TiFFH Tegs fafl/compound slide method
() e e HRAT AT tailstock offset method
(d) F9iec Fefall of the above

B=faRg A & RT v 3usur #F ggarf@iWIdentify the instrument shown in the

following figure

(a) 3T 3TST/Radius gauge (b) 93 ™ STthread pitch gauge
{c) T AST/feeler gauge (d) B'Q‘{flsﬂ'?f H T ;g oy Ti/mone of the above

AT B ydt= 1 Ada ... /Pilot hole drilling means
(a) Gigele garT 9aftd fde/Hole drilled by a pilot
(b) T TS FIUA T APAERIT e & U vard A yaftra er 3w

a small hole drilled into a material to guide a larger drill

(c) #MA E@RT YA/ Drilling done by a machine
(d) TRER sy Zanr 3 fOEU/Drilling continuously a number of holes
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5. vaud fgwe & ... & AT wgerd foram STAT §/Drill drift is used for

(a) VYT TU & HRWOT F¥a1/Drawing a drill location

(b) M= H'é? TR T ek ! AMe1/Fixing a chuck on the machine spindle

(c) FI YR ;\'E §'(f Yatle ol §¢lal/Removing a broken drill from the work
@ #Ad= a'fij W YA F¥ gTTel/Removing the drill from the machine spindle

6. 1 fAeiefex......... F TA 8/1 mm is equal to

(@) 1000 HATSHIA/microns (b) 100 HATSHisT/microns
(c) 10 ATSsisi/microns (d) 10000 ATSHIA /microns

7. ’q\a-mt?r H aenr-Rsl (@ J9) ... & fov f@ar sram &/Lock nut in the micrometer is
provided to

(a) Flé-T #r 71fa #r AT F=/control the movement of the spindle
(b) T I F FR YT T o dIE, TSATh ! HHTT T

lock the reading after setting it over the work piece
(c) T U Y S-S ATTel/Measure the work piece accurately

(d) T 7 FA iy AT H GEAATI i ATelae; TW@eai/lock the micrometer when it is not in
usc

8 TWIT ANF F ... A9 & foT F>erT ferar AT &/Taper ring gauge is used to

measure

(@) <& TU/External taper

(b) AR TR/Internal taper

(c) ETEY T AT TR/External and internal taper
(d) 3"1'%3?—[ H & TS 87 7€/ None of the above

9. f=faf@a 3usor &1 ggaIfeu/Identify the following instrument

T e oy )

A,

(a) I HIATW Vernier caliper (b) €T ﬁ&m@utside micrometer
(c) GG FEAATN/Depth micrometer (d)  STI TR HHAF/Dial test indicator
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10.

11.

12.

13.

14.

15.

AT T2 AT A ....... ¥/Left hand thread means

(a) W'eT FIGAOTET THTA TR YN 31T el &/Thread advances as bolt is rotated clockwise
(b) dec @ IHET %ﬂlﬁ a3 'ﬂ;gf 3T ST §/Thread advances as bolt is rotated anticlockwise

(c) ST HI ool AT FT F &Y TéIFd FI/Bolt has to be tightened by left hand only
(d) 39dFT A F$ 87 A€ None of the above

3 9g 3N I a1 UAB x 1 e M As.......... gl

Lead of M8 x 1 bolt which is having 3 multi start thread is

(@ 1 AT mm (b) 2 fAeYmm
(© 3 AdETYmm d) 4 FEIATmm

3cad dR SR JF §, O T @R # 9 W@ v @) 98 ..F §OF A et

Best wire size is the one which, when placed in the thread groove will make contact at
(2) Y SO /minor diameter (b) H&U TH/major diameter
(c) T =& /pitch diameter (d) 93 Freofitrough of the thread

gt H IR T ... qv TR FIdr E/Rate of feed in drilling depends on
(a) 3MAfEYT 9RTS/finish required

(b) UL 9er2l &7 Yeh/type of drill material

(c) 9AftYT Fr Farell Tere/Material to be drilled

(d) N’{iﬂ-?r TH/AI of the above

AT ... yate dfaarfad & d&ar %Ibdlls may be overheated if
(a) frreteT T3 T&T, Al/Cooling is ineffective

(b) WAt &7 & g, Al/drill is not sharp

(c) 3Eqeff ST aTerd &, Al/Clearance angle is incorrect

(d) Eqﬂﬁ TH/All of the above

T tan2x-v3=0 & a x & A ....... 2/The value of x if tan 2x - V3 = 0is ?
(@) 30° b 60° © 90° @ 45°

1396




16.

17.

18.

19.

ol JaTeT & ey & Frafowa # @ sig-ar U @@ T8 g7
Which of the following statement is not true about Knurling operation ?
(a) ToleT JaTl 3T 9T H [T AT &
Knurling operation to be done at high speeds
(b) T TATel=T Ush TFYUT JAT &
Knurling operation is a forming operation

() =T Teh g I W 31T 39 3reor s & fw fear sman g

Knurling is done on a workpiece for gripping and good appearance

(d) EF Aol UF TR T oTeled TSy §

Diamond knurling is one type of knurling pattern

g IR & g 7 ... gaRT o ST STl §/The hand reamer is guided into the hole by a

(a) ﬂgaﬂ'ﬂﬁlnghon bevel lead (b)  of€T TW 8/Long taper lead
(c) Ue wL/Straight flutes (d) 97 3id/Square end
Eoreeia @t AT A gU AW & adal A G .ooeeenennn gl

The principle followed in turning taper by offsetting the tailstock is
(2) SIS 3767 Y o2 37eT 1 WNET H T TEHT ol T oI 38T & WA T Tord Rl SATAT|

The job axis is kept out of alighment to the lathe axis and the tool made to move parallel to the
lathe axis

(b) it 36T Y Y 3787 Y AT 3T T T Y oY 3HET A HIUT $9 F Fefere foram S |

The job axis is kept in line with the lathe axis and the tool made to move at an angle to the lathe
axis

(c) SIS 378T Y Y2 3787 Y W F 77 TEHT T A 1Y HeT F HIVHT T F Faford T S|

The job axis is kept out of alignment to the lathe axis and the tool is made to move at an angle
to the lathe axis

(d) Gt 3R siia Sl i dier & 7 w@a & v o 3k eoweis 3¢ foen # Fafad #=r

The head and tail stocks move in the opposite direction to keep the live and dead centres out
of alignment

Solifaaler 3INES A 4R, ... IH 3MTAT §/Datum in engineering drawing serves as
(@) TEg AR SRR e & G A

Reference in defining the geometry of the object

(b) INEA AR @ & A g &

To identify the date on which drawing was released

(€) 3T F A=y F TrEnRT = & el J

Reference in defining the layout of the drawing
(d) 3G F 989 & FEUH

Related to projection of the drawing
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20.

21.

22.

23.

24.

25.

S g oY & ¢ YU 3eT § o I W FAdT &, Al

When the tool of centre lathe moves perpendicular to the axis of rotation,
(a) 9% U ST I=S ot Al /it produces a cylindrical surface
(b) d& U HUTC T8 et il /it produces a flat surface

(¢) T8 U&h cuid 6 3cqee] hl /it produces a tapered surface

(d) 3UGFT H { 1S o FAgl/none of the above

fAefaf@a & 9 Fia TS G & 9T 76 82

Which one of the following is not part of combination set

(@) PIOTHATISH e¥/Protractor head (b) U=© 9 /tail head
(c) FzE M¥/centre head (d @ ef¥/square head

FRfT # 9 9 g F <AE FT 94T JI F TFH ForEr Tl S8 g7

The following is not a method to find effective thread diameter

(a) T3 YEHATIY Thread micrometer (b) Efear faf&/Two wire method

(c) IR A/ Three wire method (@)  dr-zare A8/ The v-block method
MTAF T T & /Adhesive bonding joint is a

(a) FUTS "iY/Permanent joint
(b) HIAT HiY/Removable joint
(c) 3TFUTS AT/ Temporary joint

(d) 3THSS HEUT & ATEIH ¥ T yhR F TIYr yred fre s @ &
All types of joints can be achieved through adhesive bonding

to

(a) 9FEONT IRGI/Environmental changes

(b) IT=A2NTeRd 3USHTUN & FART/Use of uncalibrated instrument
(c) &I ISR HSATH/Poor cabling practices

(d) 3ATAT UHIE/ Unpredictable effects

yard 9faees STt H ... gl TTfgU/Shock resisting steels should have
(@) 3Td ®ARdl/high hardness (b)y 3I=4 iﬂﬁ?l?ﬂ/high toughness
(c) 3= dad del/high tensile strength d) @& Shofer afaRTe/low wear resistance
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26.

27.

28.

29.

30.

31.

Hiest H e S d FlA F IR ... ©/The purpose of using flux in soldering is to.......
(a) desT 215 &I TReAar dgieil/Increase fluidity of solder metal

(b) TR G 3T Y HRAVFill up gaps left in a bad joint

(¢) FTEIY Tes AT &Y STA=T1/Wash away surplus solder

(d) 3-ﬁ3'-€|133’ HFHREIOT T YhaAT/Prevent oxides forming

& & FeT F AT ggFT Sl L ©/The chisel used for cutting key ways is-
(a) TIE BeA1/Flat chisel (b) MR F=/Round nose chisel
(c) &9 BeN/Cape chisel (d) &R AFSR Sei/Diamond pointed chisel

ﬁg JifRfeeT (Taie HREwm)....... T WA &/Spot facing is the operation of

(a) T #1937 FEnlarging the hole

(b) Bg & AT geer #1 AMAa/Machining of the wall surface of hole

(¢) & ® Iy 3 FRICT gear &1 gure F2M1/Flat machining the face surface around the hole
(d) RS ilﬁ?ﬁ % @eclel/Cutting internal threads

THIT A T “GO” UIRd F SAH...H A 8/“GO” side of the plug gauge will have the
diameter equal to

(a) T F a'ﬂ?lﬁ?ﬁ JTRIY/ Actual size of the job

(b) FRE el 3ThR/Basic size of the job

(c) FIHT sgeIdH HTI/Minimum size of the job
(d) T F AOFHAR 3THR/Maximum size of the job

fead (A7) & Y s anRy ... F AT qgFd foRar STar €/Spring washers are used

under nuts

(@) 9 » PROT feaRat & Sl §1e7 T et/ To prevent slackening of nuts due to vibration
(b) FR # &ifa B Jahal/To prevent damage to the work

(c) ®eT Y &7 t Adha/To prevent damage to the bolt

(d) ﬂgl' # &77ar &I Ui/ To prevent damage to the thread

Hﬁﬁﬁtﬁ?ﬁﬁ?ﬂ?ﬁﬁlﬁf@aﬂwﬁﬁ#mﬂrwmmwﬁmﬁ
FAER W@ IRAT F A JgaT I alar 87

Which one of the following parts of a universal surface gauge helps to draw parallel lines along a
datum edge?

(a) ﬁ:&ﬂﬂﬁﬁ?ﬁ?ﬁ ine adjusting screw  (b)  T& R=1/Guide pins
() @RV groove (d) T ITH/Rocker arm
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32.

33.

34.

35.

36.

37.

38.

39.

ST A Fleel iU FH gfg & IRUTHAEET... g &/Increase of carbon content in

results in

(@) FORATH q%'llncrease in hardness
(b) 3EnEEAdr 7 gfd/Increase in malleability

() T=IaTH q@‘ﬂncrease in ductility
) Sﬂaﬂﬁ' IS 377 AET/None of the above

i 2xdx FAR....coooee &/The value of [ 2xdx is

@@ -3 (b) 0 © 1 (d 3

o | fAfaf@a & slq-ar gaes frar S a@ar 82

Which of the following operation can be performed on lathe?

(a) FTS/spinning (b)  3INWsT/drawing

(©) ﬁanUT/coining (d) TdIA/swaging

ST §) & HHR 38 ....... ¥ fafafése &/The size of the sine bar is specified by its

(a) HAR/Weight

(b) T et F &g & o Y gl/Centre distance between the two rollers
€ T daTS/Total Length

(d) QR T HTHR/Size of the rollers

AMEAR 3ETART 7 Al ATAR ... Hieaad G IS F @M A1 &

The standard temperature at which gauges are kept in metrology section is ~__Kelvin
(a) 288.15 (b 293.15 (¢) 298.15 (d 303.15

SrAtaf@a st & f5g o &1 3o @ Fi$ Hatr A8y &7

Which one of the following term is not related to welding?

(a) Hergsi/Fusion (b)  ITEH/bonding
(c) HOIEI/bead (d)  #®EHA/Penetration
AIOT AT F ..o A 'Hﬁ?aﬂﬁﬂ' fSFar AT &/The slip gauges are assembled by
(a) TosRsa/Wringing (b) fANS/pressing
(¢) "UddiSel/hammering (d)  §Y/fasteners
H7g6 T ..o ®/H7g6 fit is
(a) 3wl fe/Clearance fit (b) cafdsIoT fhe/Interference fit
(c) AT R/ Transition fit (d) ITdFd HeWall of the above
9

steel
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40.

41.

42.

43.

44,

45.

Trepanning is a method used to

(a) 93 FeT=/generate threads

(b) T dg HTe/seal holes :
(c) &g @I S=Te1/generate holes

(d) o3 ATORT = AFOT HTel/smoothen weld bead

Us5-I5T % Wedsh F9A & 3937 ¥ T aR=SRE fr % F ... T ACT 8

The length of profile, selected for the purpose of making an individual measurement of surface
texture is known as

(a) STEa SaTS/Sampling length (b) LB darS/Reference length
(c) AT JIaTS/Standard length (d) AT ST/ Measured length

3R T YafAfeEE w3 R & S By T yaus fhar s §) g @At &
Fdel 9T A & AR tgfRfEE & v 77 Mex 9fd @se @ d aged fBear st
1 10 Feieiex waus fae & foT 9g&d rpm .......... el

You have been given an aluminium block in which hole is to be drilled. From the tool
manufacturer’s cutting speed chart, 77 m/min speed to be used for aluminium. The r.p.m to be used
for10 mm drill bit is :

(a) 2400 rpm (b) 2450 rpm {¢) 2500 rpm (d) 2550 rpm
e AT (q) = 1° (1° A TIR@T = 0.0175) T Fo FF & = 200 Al Iod TR
¥ god s F fAv 3fEa Aeae Fr A gl

Amount of offset required for the job for turning a taper having half angle (o) = 1° (tangent
of 1° = 0.0175) and total length of the job =200 mm is

(@ 1.143 Beey/mm ()  3.50 FANFHTY/mm
(©) 2.0175 A T/mm (@)  3.141 fAsHY/mm

TH 8 x 191 I A IES s fohiedr 82
The approximate depth of thread for M8 x 1 is

(@) 0.62 fANHARY/mm ()  0.92 FAHRY/mm

(¢) 1.00 RAsiFETYmm (@ 1/8 FEFATYmm

w23 R f d9g & o amer J@o..F (-Rae e Sraarel @it @ Jerg sk
d-fae &1 camE)|

General formula for the length of the snap-head rivet is (t — thickness of the joint to be riveted
and d - diameter of the rivet)

(@ t+05d (b) t+d (¢) t+1.5d (d t+2d
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46.

47.

48,

49,

50.

51.

X F TET H —sinx T GFdT ......¢/Derivative of —sinx with respect to x is

(a) cosecx (b) —cosx (¢) —cosecx (d) cosx
3-Tﬁ§fﬁ oG e d’ &, 3UF GRAM ... &/Perimeter of the semicircle having
diameter ‘d’ is

(a) ([I+1)*d2 (b) (II+2)*d/2 (c)  (TI+3)*d/2 (d) (H+4)*dn2

THEAAE ey aReae & & wgdt & A A S & v femiafea afeser gfwar

# forgar 9T fRaT ST F@edT §7 /Which of the following welding process can be used to join
the ends of two pipes of uniform cross section?

(a) ﬁg AfesaT/Spot welding

(b) walT 3fe=a/Projection welding
(c) TraeT afe391/Seam welding

(d) 9aTE Afeda/Upset welding

< o (qoiler ) % R Pl gat § saar @l {2
Which of the following formula is correct for turning time
(a) Length of cut X No. of cuts

Feed X r.p.m

(b) Feed X r.p.m
Length of cut X No. of cuts

() Length of cut X Feed
No. of cuts X r.p..m

() Length of cut X r.p.m
Feed X No. of cuts

30° 15' 30" & A= 7 gR@afda ffsw/Convert the 30° 15' 30” into minutes
(a) 1815.20° (b) 1815.30° () 1815.40° (d) 1815.50°

IR B o ¥ IER faf@a A swi i e & fav SgEeE AR
HOFAA A AR HAM L. ¥ (@B 37.50-37.52 AR Uwe: 37.47-37.45

fAe#¥ex) / The values of minimum and maximum clearance respectively for the following dimensions
of mated parts according to basic hole system is (Hole: 37.50-37.52 mm Shaft: 37.47-37.45 mm)

(@ 0.03,0.07 AHHECY/mm (b)  0.02, 0.03 fAehFHT/mm
© 0.02, 0.02 FNACTYmm (d)  0.05, 0.05 fFANHACY/mm
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52.

53.

10 MM

S CM

(Typical)

10 MM

| 10 CM

3'CI'<‘:5,T=I'H = &1 e % ... %‘/Area of the figure shown above is
(@) 44 cm’ by 45 cm?
(©) 46cm’ (d) 47 cm?

NNRENN /8957

Zoro ins

PR QFHHA: ........ fhe 1 v g = &
Pand Qrepresents __fit respectively

(a) SATIHIUT I ThAUTInterference and transition
(b) 30 IHT AfAFOT/Clearance and interference
(c) THHYT A AT/ Transition and clearance

(d) 3T R HFHFAUT/Clearance and transition

12
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55.

56.

\\ \

LY
. \\ \\}—\
A

YA g N H 45° FI0T I frAfaf@a Haisie Ye Tometen 7 A Tohad 19T ST Fhar §7

The angle of 45° in the above work piece can be measured by which of the following attachments
of combination set?

(a) SUTATIS Md/Protractor head

(b) GE)) Qﬂ'ﬁ'/Square head

(¢) ‘a’ 3R ‘b’ @Ai/Both ‘a’ and ‘b’

(d) SCI{}:?H H W 15 i F&1/None of the above

A YR I3 el F AT FRRE & 99y vy g7 gl
For selecting the gears for single start thread cutting, the formula used is

(@) Driver _ Pitchof leads crew
Driven Pitch to be cut

(b) Driver i, Pitch to be cut
Driven Pitch of lead screw

( ) Driven Pitch to be cut
Driver Pitch of lead screw

(d) 394Fd H & AS 37 7LV/None of the above

IFT 3T H AU FEEe 200 A W ST ar gEa Raw e @ s
100 fAeeT B, ar Hor T #r uiRa fifae?

Determine the angle set if the height of slip gauges used is 100mm with a sine bar of 200mm length

(a) 45 faft/degree (b) 60 f3MN/degree
(c) 30 f33f/degree (d 15 fZd/degree
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57.

58.

99.

60.

61.

2.5 HAreY das & UF AN AT S WM = F faw 0.2 FelFer gfa Ay &
ganfear arer feuRe daer 3 3iena 3l @ fagd Ramar g1 v # &fas a9 &
T AT TR F UF B W A @ T arell 3T Fr Alers Brasr giar arfge?

In order to align a machine bed of 2.5m length, a spirit level with a sensitivity of 0.2mm/m shows a
deflection of 3 graduation marks. What is the thickness of the shim to be placed underneath one end
of the machine bed to make the bed horizontal

(@ 2.5 AeH/mm by 1.5 FAeHEYmm
(c) 4 FeHEYmm (d) 0.6 AT mm

10 fAeiFieR aed & ek PIfAT @@t g9y aREde B3 @ ST S aTel So
sftraR Fsar fraer greir?

What is the maximum radius of cylinder which can be made out of a regular square cross section
rod with side 10 mm?

(@) 10 eIy mm (b) 5 AR mm
(¢) 7 AIHRT/mm @  5v5 FedA/mm

50 AT x 100 BT 3R F oF die 10 BT x 100 A 3R &
ﬁmm?—gmmma‘?

How many rectangular pieces of size 10 mm x 100 mm can be cut from a sheet of size 50 mm x 100
mm?
(@ 55 (b)y 50 (cy 500 d 5

It $ig, 350 IRWvA W 0.5 e wia goler §, ar 350 fAelieeT o« 3k 50

AT caTHarel U aF | A U 99T Faa & foU 30fEd goe e, et &
fpctam grem?

What is the turning time required in minutes for one complete cut on a piece of work 350mm long
and 50mm in diameter if the feed is 0.5mm per revolution at 350 rpm

(@ 3 (b) 2 ) 4 @ 3

Th FUF (AMFT) F RGN, TEY A F 20h6 GAET FERIT Far &1 Aeleier &
9% H HUFAA Hefgesy HAR Fhaa §2

A drawing of a shaft specifies to turn the outer diameter to 20h6. What is the maximum permissible
size of the shaft in mm

() 19.98 (b) 19.994 © 20 d) 14
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63.

64.

65.

66.

67.

................ F A & T HER H1EG2TF §/Datum is required to measure
(a) THAJAd/Flatness

(b) \'{V&'ﬂ' H&TT/surface roughness

(c) WHIAIdVparallelism

(d) 3‘1’{13-?[ H A g o AL/ None of the above

TR U VATAAEH @3 H ¥T W AF a1 fAetatad 3 sdat § el
3T ... el

You have to file an aluminium block to smooth finish. Which one of the following cut of file is
most suitable

(a) TUehdl a'ﬁFl'/Single cut (b) Eﬁ' Fa-/Double cut
(©) I Fd/Rasp cut (d) EIT-:I_’H Foel/Circular cut
-1 -3 -4 -1 -3 -4
AfeTa (—2 1 2 ) #r e ...... &/Rank of the matrix (—2 1 2 ) is
-1 4 6 -1 4 6
(@ 3 by 2 © 1 d 0

50 TTET T T SHeT HA, ucdiss £/In a class of 50 students, the marks obtained are

37eh/Marks 15 [30 [37 J40 |45 |48

BET ST J&IT/No. of students 2 8 14 12 10 4

s'aa?ragﬂai ...... #/Its mode is

(ay 37 (b) 40 (c) 45 (d 30
SHfaaY AT & &0 HOUTHF ......... &/Least count of engineer’s steel rule is
(@) 0.5 AT mm (by 1 FAEET/mm

(¢) 0.1 fAeiefer/mm (d 2 fReHE/mm

TH 8 x 1960 I & Fad & AT siF F7 Il qr| T g

The outer dia of the blank for cutting external thread of M8 x 1 is approximately

(@) 6.8 AFHIEYmm (b) 7.9 FRSHARY/mm
(¢) 7.0 fAiefie/mm (@ 8.5 AeHet/mm
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68.

69.

70.

71.

72.

73.

74,

G LI IICT B - VO AT JT T F-lﬁT %’lThe following is not related to Lathe

(a) UTSY she/Pipe centre (b) Y FE/Female centre

(c) e, 9f/Centre punch (@) aR=re afgsr Driving plate

E == 0 = SR § AT &/Scribers are made of

(a) 3T FTT T high carbon steel (b)  gIal Agl/cast iron

(c) ¥gFEIA/mild steel (d) ®IEA/bronze

UF AAF AU & fow ﬁ?_; BT ... %/The point angle for a standard drill is
(a) 60° (b) 108° () 118° (d) 135°
ke 99 88 &F A F v vF A7 TS aF B F 3T H G857 e A
gfsra...... g

The process of enlarging the end of a hole to an even depth for housing the socket screw head is
(a) TSgave/reaming (b) ufa GR¥FOV/counter boring

(c) TUIA Yheleh/spot facing (d) FelA/knurling

kel Al F LG Wehrd .....8/The basic functions of cutting fluids are

(2) raee R FI ITFHIOT F AFAAT T TUTFA/Cooling and flushing chips away from the
cutting tool

(b) TG IWT VR ‘{@RT qRA=I/Lubrication and better surface finish
(c) B TUT UFAA gl A W/Lubrication and facilitation of chip removal
(d) 2 =T F AT/ For larger cutting

...... o & MY Tl HT HFET §/The part that belongs to the head stock of the lathe is

@) ﬂ'@?—lﬁ-ﬁMain spindle (b) IS T/ Tool post
(¢) & TIH/Tail stock (d) ¥ IST/Carriage

o1 v fadw ﬂﬁﬁ &, SVA jig is a special device

(a) @R & AT FIA B/Which holds the job

(b) cleT 3YHIVT HY @@T—ﬂ' £/Which locates the cutting tool

(c) JIHTOT T fE2m &ir &/Which guides the tool

(d) Fdel 3YHIOT HI @?—ﬁ‘ & 31T feram afr 28T 8/Which locates and also guides the cutting tool
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75.

76.

77.

78.

79.

80.

dT F fg AFATH 7 TR [FE...F AT yeea §

The tumbler gear in the feed mechanism of lathe is provided

(a) 3Tl T3 7 af@d=/To change the tool post

(b) 33T U fr 2w IEEA/To change the direction of the lead screw
(c) o= Fr G SEe=/To change the direction of the chuck

(d) Fl? & 9T T Sgelal/To change the spindle speed

T A g N & Goholsh H1 GAAT §, A 3 aFJ F...... W TG G|
If you have to turn the face of an irregularly shaped work piece, you should mount the piece

(a) 9%elh 9g/On a face plate

(b) gl & S/Between centres

(¢) FarF fra @ He2el/In a mandrel and hold in-between the centres
(d T&H3 &1 I%/In a 3 jaw chuck

T ... &1 AT @/Steel is an alloy of

(a) o1 3R R*A/Copper and tin (b) TR 3 A Tin and lead
(c) @&T 3T w1Ea/Iron and carbon (d) IOAE F TS/ Zinc and brass

WIYROTA: WA ... & foT gy e S E/Generally, gauges are used for
(a) FSAHIS IcUTEA ST AT/ Measuring in mass production
(b) T TE AT A Y ATIA/Measuring the exact true dimension value
(c) T Y& Yo FIA/Getting a direct read out
(d) HATYT STFHIVI F FUR ATTA FATHAT TgTet
Increasing accuracy of measurement over measuring instruments
AT & gsc H FB FATT AT Ufehar ... 8/The process by which surface of steel is hardened is
(a) CFRUT/Tempering (b)  3HreleT/Annealing
(c) U=IEEROT/Anodising (d) 955 TEIIUT/Case hardening

mmﬁsmj;ﬁﬁraﬂtsaﬂa‘fa%lwa‘faa#mm#gaﬁmm

¥ SHR T THEST § BF ag F ar o g 3R F &l

In a box there are 8 red, 7 blue and 6 green balls. One ball is picked up randomly. What is the
probability that it is neither red nor green?

@) 173 (b) 3/4 © 719 @) 821
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F9 %1 * faw e / Space for rough work
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%= w1 & fg wum / Space for rough work
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w2 %14 % fg eam / Space for rough work
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